
Math 30-1:
Combinations of Transformations
Name:  




1. Describe, in order, the transformation represented by each equation. 
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2.  Determine the equation of each transformed function.
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 is stretched horizontally by a factor of 6, reflected in the x-axis, and translated 7 units



down.  
 




b)  
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 is reflected in the y-axis, stretched vertically by a factor of 
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, and translated 3 units to



the right
 




c)  
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 is reflected in the x-axis, stretched horizontally by a factor of 3, and translated so that the



vertex is at 
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d)    
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 is stretched horizontally by a factor of 4, reflected in the x-axis, and translated 4 units to



the right and 1 unit down.  
 


3.  The key point 
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is on the graph of 
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.  Determine the coordinates of its image point


under each transformation.
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c) 
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4.  The graph of 
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 is shown below.

[image: image1.wmf]54()

yfx

+=-




Accurately sketch the graph of 
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on the grid above.
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